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We also learnt this in a Braisoh — 59129 5957 911 KN

OVERVIEW

29 R ©"am (seemingly) teaches us two things that n7mn 7w is 709, and we
derive it from the p109 of' 77X 7¥ *5 ¥ N1 &Y. The X3 cites a Xn*12 in support of
27 R v"2a1 which cites the same 109 and derives from it that NP MY is 909.
Our mpo1n discusses what the Xn>72 needs to prove; the ruling or its source.

= NPO) TAN 1Y %9 HY 511> XYNT 991 193 NI 'NHN
The X na cites the 71''an, (only) to prove that we derive the 7105 of nmrn M

from the P09 of R"'Y "'y NMY R® -
= 1P10INNN NYNY NNDNT NIPIY 19INT

For the main statement of 27 7K v"2r1 (namely that 72109 7M1 NM7Y) we know

it from our wn; nmooin clarifies -
— 1T PYNNI TANA 299N KY PNINNIT >34

For granted that our ;712 is not discussing a case of ‘one from this window’,

etc. but rather a case of two from this window (so how can we derive the ruling of 27 72X v"am
from our 7wn? NMoOIN responds -
= 19N NN YN PRI PRYI NTY SNV 1%2UNT NI SNV 1IYNDYNTN DIPN Do)

Nevertheless, since our 7iwn teaches us regarding two sets of (two) 07y, that
they are considered as two separate testimonies when they do not see each

other - ,
= "PAN N2 PN NINT 1YY NN

From this we can derive that the same ruling applies by one set that if they do not
see each other, they cannot combine and the N7y is 79109.

mooin offers a different interpretation: ,
= 73519990 NNDINI APOYT WY 91 NN DIPNI Do

Notwithstanding the above, it is preferable to explain that the X723 cites the 77"1n
to prove the main statement of 21 7% v"ar that 72109 nIAH MTY.

mooIn responds to the apparent difficulty:4
= YOI DN MTY 2XUN RN YT MND *HWA XPIT NN NN 1253000 INY

For if we wish to derive Xn?n 77y of ©v"217 from our 7w, it can be refuted, for
we can say, only by two sets of M7v where each set is considered a distinct n7y

by itself, do we say that if ¥2X NX 19X PRI X they are not combined -
= 999V 9908 NNN N2 YaN

', (Dvomw) o™

? Therefore the 7"1n is not cited to support the ruling, for this we can derive from our 73wn (so why mention a
XN*>72), but rather it is only coming to prove that we derive it from the 109 of 131 N2 XY as 27 MK v"ar stated.

? The reason why it (seemingly) cannot be referring only to the P10 will be explained shortly (see footnote # 6.).

* moon just told us that the X% 7p°y can be derived from our 73w, why the need for a xn»92?!
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However by one set of M7y perhaps indeed they do combine’ (since each 7v is not a
separate and distinct entity).6

mooin offers (additional) support for %he latter view:
= PYOON P9 99N 33 NN N1 NIT 90D PAT 99T AN 129

And it seems so (that the 7"1n is cited to prove Xn?°» 7p°y of v"21M) for it is too

awkward to say that he is citing the 71''1n, only regardmg the 105 -

(Y SINY) NIWNY AN 19 %159y 19994 "IN X997 19
Since there is no one who argues (with [the source of] this ruling, so why do we
need a proof). So it appears to n''>w» (my teacher, may he live).

SUMMARY

The 71"10 may be only for the 705 (since the ruling can be derived from the 71wn),
or preferably it is for the ruling (which cannot be derived from the 71wn) for there
is no need to prove the ?105 (since there is no argument).

THINKING IT OVER

When '01n writes %99 2997 181 X2°>7 113,'! does it mean that no one argues with the
ruling, therefore there is no need to being a proof to the source of the ruling,'> or
does M0 mean that no one argues with the source of the ruling so therefore there
is no need to prove the source."

> Therefore we cite the Xn>12 to prove Xn2*» 1P of v"257 that even one 7Y in each window are not 77wy if they are
not 19X NX 12X 7RI,

% By two sets of two 079, since each set which saw the act is a complete entity (they can convict on their basis
alone) therefore in order to combine them we need something additional; that they see each other. However when
there is only one 7¥ in each set and they both saw the act, this alone would seem sufficient to combine them even if
they do not see each other. [This distinction is debatable.]

7 See footnote # 3.

¥ The n"27 M amends this to read 108K 7 (instead of pioda ).

? We need support for a ruling of an XX either if it is not mentioned in a 73w or if another XM»K argues with him.
We do not need to support a source for a ruling unless another X1X offers a different source.

' See “Thinking it over’.

' See footnote # 8.

2 The difficulty with this explanation is, why is it then necessary even to prove the ruling since no one argues with
it.

" Would this mean that someone is arguing with the ruling; otherwise why is there a need to prove it.
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